0.16mgOAH E/keZ B A -H S (XHATIRFI. 0.09mgOAH = /keFEZ0.16mgOAR E/ke A TDIGEITHEBE,

FTH7EE BERRSREER [THIERSE]

Yt THRIER S (mgOAHE "ke)
TRERRE xR REHHAB ) DTX-1 | DTX-2 | OAZ
e RIS F
SALBE XE A+ 58128 <0.01 <0.01 <0.01 <0.01
SE)E S A+ 58128 <0.01 <0.01 <0.01 <0.01
BEZHEE xR A+ 58128 <0.01 0.02 <0.01 0.02
AEZERRE JRHE hx 5812H <0.01 0.03 <0.01 0.03
EZ+EER X RETHA 5813H <0.01 <0.01 <0.01 <0.01
SAWGEE XE R THA 5813H <0.01 0.01 <0.01 0.01
IZNR - RERIE E RETHA 5813H <0.01 0.02 <0.01 0.02
o )IE o) "R THA 58138 <0.01 <0.01 <0.01 <0.01
1BIRE +=E R THA 5813H <0.01 0.05 <0.01 0.05
T g5 3R RETHA 5813H <0.01 <0.01 <0.01 <0.01
ZE-HEFEER %)l "R THA 5813H <0.01 <0.01 <0.01 <0.01
mak:id FHE LY XAHA4 58138 <0.01 <0.01 <0.01 <0.01
FA &P ¥R LSYFAhHA4 58138 <0.01 0.05 <0.01 0.05
Jt &R wa LY XAHA4 58148 <0.01 <0.01 <0.01 <0.01
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